Table 1. Hyper parameters for best models obtained with AutoWeka using full training sets.

RCC ClassifierName Arguments AttributeSearch Attribute  AttributeEval  AttributeEvalArgs
SearchArg
10NoLat_Sum weka.classifiers.lazy.l [-E,-K, 1, -I] weka.attributeS  [-C, -B, -R]  weka.attributeS [-M, -L]
Bk election.Greedy election.CfsSub
Stepwise setEval
10NoLat_Concat weka.classifiers.meta. [-L, 4, -P, null M null 1
RandomSubSpace 0.7735350708070846,
-5, 1,-W,
weka.classifiers.trees
J48,--,-0,-B,-M, 1, -
C
0.364431932692619]
10YesLat_Sum weka.classifiers.lazy.l [-E, -K, 2] weka.attributeS  [-C, -R] weka.attributeS  []
Bk election.Greedy election.CfsSub
Stepwise setEval
10YesLat_Concat weka.classifiers.trees. [-I, 10, -K, 0, -depth,  null M null 1
RandomForest 0]
11NoLat_Sum weka.classifierslazy.l [-K, 2, -X, -F] weka.attributeS  [-B, -R] weka.attributeS  [-M]
Bk election.Greedy election.CfsSub
Stepwise setEval
11NoLat_Concat weka.classifiers.trees. [-1, 10, -K, 0, -depth,  null [1 null 1
RandomForest 0]
11YesLat_Sum weka.classifiers.trees. [-I, 10, -K, 0, -depth,  null M null 1
RandomForest 0]
11YesLat_Concat weka.classifiers.trees. [-I, 10, -K, 0, -depth,  null 1 null 1
RandomForest 0]
12NoLat_Sum weka.classifiers.lazy.l [-E, -K, 4, -I] null M null 1
Bk
12NoLat_Concat weka.classifiers.rules. [-E, acg, -S, null 1 null 1
DecisionTable weka.attributeSelecti
on.BestFirst, -X, 1]
12YesLat_Sum weka.classifiers.trees. [-1, 10, -K, 0, -depth,  null [ null 11
RandomForest 0]
12YesLat_Concat weka.classifiers.trees. [-I, 10, -K, 0, -depth,  null M null 1
RandomForest 0]
13NoLat_Sum weka.classifiers.trees. [-I, 10, -K, 0, -depth,  null [1 null 1
RandomForest 0]
13NoLat_Concat weka.classifiers.trees. [-I, 10, -K, 0, -depth, null 1 null 1
RandomForest 0]
13YesLat_Sum weka.classifiers.trees. [-I, 10, -K, 0, -depth, null 1 null 1
RandomForest 0]
13YesLat_Concat weka.classifiers.trees. [-1, 10, -K, 0, -depth,  null [l null 11
RandomForest 0]
14NoLat_Sum weka.classifiers.trees. [-I, 10, -K, 0, -depth, null 1 null 1
RandomForest 0]
14NoLat_Concat weka.classifiers.trees. [-1, 10, -K, 0, -depth,  null [ null 1
RandomForest 0]
14YesLat_Sum weka.classifiers.trees. [-I, 10, -K, 0, -depth, null 1 null 1
RandomForest 0]
14YesLat_Concat weka.classifiers.trees. [-1, 10, -K, 0, -depth,  null [ null 1
RandomForest 0]
15NoLat_Sum weka.classifiers.trees. [-I, 10, -K, 0, -depth,  null 1 null 1
RandomForest 0]
15NoLat_Concat weka.classifiers.trees. [-1, 10, -K, 0, -depth,  null [ null 1
RandomForest 0]
15YesLat_Sum weka.classifiers.trees. [-I, 10, -K, 0, -depth,  null 1 null 1
RandomForest 0]
15YesLat_Concat weka.classifiers.trees. [-I, 10, -K, 0, -depth,  null M null 1
RandomForest 0]
4NoLat_Sum weka.classifiers.trees. [-1, 10, -K, 0, -depth,  null [ null [
RandomForest 0]
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The RCC column describes the conditions used to build the corresponding RCCs. The first digits

specifies the distance in Angstroms used to build the contact maps; YesLat or NoLat specifies if

side-chain atomes were used or not; Sum or Concat specifies if addition of each RCC for a protein-

protein pair was used of concatenation.

Table S2. Hyper parameters for best models obtained with AutoWeka using samplings of training

sets with redundancy.

RCC ClassifierName  Arguments AttributeSearch Attribute AttributeEval ~ Attribute
SearchArg EvalArgs
norm_7noSC_sum_sz1_itl weka.classifiers. [-P, 100, -1, 96, -Q, - [-C, -B, - [-M, -L]

_0s200

norm_7noSC_sum_sz1_it2
_0s200

norm_7noSC_sum_sz1_it3

_0s200

norm_7noSC_sum_sz1_itl

_0s200

norm_7noSC_sum_sz1_it2
_0s200

norm_7noSC_sum_sz1_it3
_0s200

meta.AdaBoostM
1

weka.classifiers.la
zy. LWL

weka.classifiers.
meta.AdaBoostM
1

weka.classifiers.
meta.AdaBoostM
1

weka.classifiers.
meta.AdaBoostM
1

weka.classifiers.la
zy.LWL

S, 1,-W,
weka.classifiers.tree
s.REPTree, --, -M, 1,
-V,
1.577303729235641E
-4,-L,-1,-
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weka.classifiers.tree
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stand_8yesSC_sum_sz3_it
1_0s300

stand_8yesSC_sum_sz3_it
2_0s300

stand_8yesSC_sum_sz3_it
3_0s300

stand_8yesSC_sum_sz1_it
1_0s300

stand_8yesSC_sum_sz1_it
2_0s300

unctions.SMO

weka.classifiers.
meta.RandomCo
mmittee

weka.classifiers.la
zy. LWL

weka.classifiers.
meta.AdaBoostM
1

weka.classifiers.tr
ees.RandomFores
t

weka.classifiers.
meta.Bagging

weka.classifiers.
meta.AdaBoostM
1

weka.classifiers.tr
ees.RandomFores
t

weka.classifiers.
meta.RandomSub
Space

0.9141776780213309
,-N, 2, -K,
weka.classifiers.fun
ctions.supportVect
or.RBFKernel -G
0.3287188711032845
7null
[-,4,-S,1,-W,
weka.classifiers.tree
s.RandomForest, --,
-1, 10, -K, 2, -depth,
16]null

[-A,
weka.core.neighbo
ursearch.LinearNN
Search, -W,
weka.classifiers.tree
s.RandomForest, --,
-1, 36, -K, 1, -depth,
O]null

[-P, 100, -1, 85, -Q, -
S, 1,-W,
weka.classifiers.fun
ctions.SMO, --, -C,
0.9373109712491259
,-N, 2, K,
weka.classifiers.fun
ctions.supportVect
or.Puk -S
2.5890586683260794
-0
0.7339471840994586
Jweka.attributeSele
ction.GreedyStepwi
se

[-1, 10, -K, 0, -depth,
OJnull

[-P, 100, -1,73,-S, 1,
W,
weka.classifiers.tree
s.RandomTree, --, -
M, 1, -K, 0, -depth,
0, -N, 0, -Ulnull
[-P,100,-1,7,-S, 1, -
A
weka.classifiers.fun
ctions.SMO, --, -C,
0.618708993274995,
-N, 1, K,
weka.classifiers.fun
ctions.supportVect
or.Puk -S
3.0758368231338262
-0
0.6334685907800855
Jweka.attributeSele
ction.GreedyStepwi
se

[-1, 10, -K, 0, -depth,
0]null

[-1, 48, -P,
0.7040799629891291
,-S,1,-W,
weka.classifiers.bay

[Inull

[Inull

[_Br -
R]weka.attribut
eSelection.CfsSu
bsetEval

[Inull

[Inull

[-
R]weka.attribut
eSelection.CfsSu
bsetEval

[Inull

[Inull

[_M/ _L]

[-M, L]




es.BayesNet, --, -D,
-Q
weka.classifiers.bay
es.net.search.local.

K2]null
stand_8yesSC_sum_sz1_it weka.classifiers.la [-K, 60, -A, [-C, - [-M, -L]
3_0s300 zy LWL weka.coreneighbo ~ R]weka.attribut
ursearch.LinearNN eSelection.CfsSu
Search, -W, bsetEval
weka.classifiers.bay
es.NaiveBayes, --, -
D]weka.attributeSel
ection.GreedyStep
wise
stand_8yesSC_sum_sz2_it weka.classifiers. [-I,23,-S,1,-W, [Inull M
1_0s300 meta.RandomCo  weka.classifiers.tree
mmittee s.RandomTree, --, -
M, 2, K, 4, -depth,
19, -N, O]null
stand_8yesSC_sum_sz2_it weka.classifiersla [-K, -1, -A, [Inull 1
2_0s300 zy LWL weka.core.neighbo
ursearch.LinearNN
Search, -W,
weka.classifiers.tree
s.RandomForest, --,
-1,92, K, 0, -depth,
OJnull
stand_8yesSC_sum_sz2_it weka.classifiers.la [-B, 79, -M, n]null [Inull 1
3_0s300 zy KStar
stand_8yesSC_sum_sz3_it weka.classifiers.tr [-I, 10, -K, 0, -depth, [Jnull [
1_0s300 ees.RandomFores O]null
t
stand_8yesSC_sum_sz3_it weka.classifiers. [-P, 100, -1,17,-S,1, [Inull [
2_0s300 meta.AdaBoostM  -W,
1 weka.classifiers.tree
s.RandomForest, --,
-1, 5, K, 10, -depth,
13]null
stand_8yesSC_sum_sz3_it weka.classifiers.la [-B, 91, -M, a]null [Inull M
3_0s300 zy KStar

The RCC column describes the conditions used to build the corresponding RCCs. Below is a
summary scheme of the names in the RCC column:.

{norm/stand/raw}_{7/8}{no/yes}SC_{con/sum}_sz{1/2/3}_it{1/2/3}(_over{200/300}).

The fields are separated by an underscore. The first field {stand/norm/raw} specifies if the RCC were
standardize, normalized or taken without further modification; The digits of the second field {7/8}
indicates the distance in Angstroms used to build the contact map; {no/yes}SC inform if side-chain
atoms were used or not in the construction of the contact map. The third field {con/sum} describe if
concatenation or addition of each RCC for a protein-protein pair was implemented. From the fourth
to the sixth field is the information of the undersampling procedure used, the sz{1/2/3} refers to the
proportion of the undersampling of the majority class (positive) with reference to the length of the
minority class (negative), as follows: sz1 = undersampling 1:1, sz2 = undersampling 2:1 and sz3 =
undersampling 3:1 of positives (P) vs negatives (N) respectively; the fifth field it{1/2/3} refers to the
random iteration seed used for the undersampling. Last, the sixth field (_over{200/300}) may or not
be present, it is the indicative of the oversampling sets, which all part from an undersampling 1:1
set. In this way, the negative class was synthetically oversampled to generate the same quantity of
negative instances 1:2 (P:N) (over200), or twice the quantity of negative instances 1:3 (P:N)
(over300).



Table 3. Hyper parameters for best models obtained with AutoWeka using samplings of training

sets without redundancy.

RCC ClassifierName Arguments AttributeSearch ~ Attribute  AttributeEval  Attribute
SearchArg EvalArgs

norm_7noSC_con_tra_sz weka.classifiers.laz [-K, 30, -A, null il null 1
1_itl.outTestStats y.LWL weka.core.neighbours

earch.LinearNNSearc

h, -W,

weka.classifiers.functi

ons.Logistic, --, -R,

5.364192804065933]
norm_7noSC_con_tra_sz weka.classifierslaz [-B, 23, -M, a] null M null 1
1_it1_over200.outTestStat y.KStar
3
norm_7noSC_con_tra_sz weka.classifierslaz [-E, -K, 28, -X, -F] null M null 1
1_it1_over300.outTestStat y.IBk
3
norm_7noSC_con_tra_sz weka.classifierslaz [-K, 2, -X, -F] weka.attributeSel  [-B, -R] weka.attributeS [-M]
1_it2.outTestStats y.IBk ection.GreedySte election.CfsSub

pwise setEval

norm_7noSC_con_tra_sz weka.classifiersme [-P, 100, -, 119,-S,1,- null 1 null 1
1_it2_over200.outTestStat ta.AdaBoostM1 W,
3 weka.classifiers.trees.

J48, -, -O, -B, -], -S, -

M, 48, -C,

0.6814364759118827]
norm_7noSC_con_tra_sz weka.classifiers.laz [-K, 60, -A, weka.attributeSel  [-C, -R] weka.attributeS  []
1_it2_over300.outTestStat y.LWL weka.core.neighbours ection.GreedySte election.CfsSub
s earch.LinearNNSearc pwise setEval

h, -W,

weka.classifiers.functi

ons.MultilayerPercep

tron, --, -L,

0.1785572545829176, -

M,

0.49930333273052374,

-H, t,-C, -5, 1]
norm_7noSC_con_tra_sz weka.classifiers.laz [-B, 71, -M, n] null 1 null 1
1_it3.outTestStats y.KStar
norm_7noSC_con_tra_sz weka.classifierslaz [-E, -K, 8, -X] null 1 null 1
1_it3_over200.outTestStat y.IBk
3
norm_7noSC_con_tra_sz weka.classifiers.laz [-K, 2] null 1 null 1
1_it3_over300.outTestStat y.IBk
s
norm_7noSC_con_tra_sz weka.classifiersme [-1,9, -P, null 1 null 1
2_itl.outTestStats ta.RandomSubSpa  0.5825368043205884, -

ce S, 1,-W,

weka.classifiers.lazy.

KStar, --, -B, 11, -M,

m]
norm_7noSC_con_tra_sz weka.classifiersme [-P,100,-],33,-S,1,- null [ null 1
2_it2.outTestStats ta.AdaBoostM1 W,

weka.classifiers.trees.

RandomForest, --, -1,

13, -K, 0, -depth, 7]
norm_7noSC_con_tra_sz weka.classifiersme [-P,100,-],55,-S,1,- null [ null 1
2_it3.outTestStats ta.AdaBoostM1 w,

weka.classifiers.bayes

.BayesNet, --, -D, -Q,

weka.classifiers.bayes

.net.search.local. LAG

DHillClimber]
norm_7noSC_con_tra_sz weka.classifiers.laz [-B, 26, -M, d] null [ null 1

3_itl.outTestStats

y.KStar




norm_7noSC_con_tra_sz
3_it2.outTestStats

norm_7noSC_con_tra_sz
3_it3.outTestStats

norm_7noSC_sum_tra_sz
1_itl.outTestStats

norm_7noSC_sum_tra_sz
1_it1_over200.outTestStat
s

norm_7noSC_sum_tra_sz
1_it1_over300.outTestStat
3

norm_7noSC_sum_tra_sz
1_it2.outTestStats

norm_7noSC_sum_tra_sz
1_it2_over200.outTestStat
s

norm_7noSC_sum_tra_sz
1_it2_over300.outTestStat
s

norm_7noSC_sum_tra_sz
1_it3.outTestStats

norm_7noSC_sum_tra_sz
1_it3_over200.outTestStat
s

norm_7noSC_sum_tra_sz
1_it3_over300.outTestStat
s

norm_7noSC_sum_tra_sz
2_itl.outTestStats

weka.classifiers.me
ta.AdaBoostM1

weka.classifiers.me
ta.RandomSubSpa
ce

weka.classifiers.me
ta.AdaBoostM1

weka.classifiers.me
ta.AdaBoostM1

weka.classifiers.me
ta.RandomCommit
tee

weka.classifiers.laz
y.LWL

weka.classifiers.me
ta.AdaBoostM1

weka.classifiers.me
ta.AdaBoostM1

weka.classifiers.me
ta.AdaBoostM1

weka.classifiers.me
ta.AdaBoostM1

weka.classifiers.me
ta.RandomCommit
tee

weka.classifiers.laz
y.LWL

[-P, 100, -1, 36, -S, 1, -
W,
weka.classifiers.bayes
.BayesNet, --, -Q,
weka.classifiers.bayes
.net.search.local.K2]
[-1, 34, -P,
0.21648763830536832,
-S,1,-W,
weka.classifiers.trees.
J48,--,-U, -B, -], -A, -
M, 1]

[-P, 100, -1, 64, -S, 1, -
w,
weka.classifiers.trees.
LMT, --, -B, -R, -P, -M,
1, -W, 0]
[-P,100,-1,19,-5,1, -
w,
weka.classifiers.trees.
J48, --, -O, -B, -M, 1]
[-L 36,-S,1,-W,
weka.classifiers.trees.
RandomPForest, --, -1,
5, -K, 0, -depth, 0]
[-U, 1, -A,
weka.core.neighbours
earch.LinearNNSearc
h, -W,
weka.classifiers.functi
ons.SMQ, --, -C,
1.376271748154589, -
N, 0, -M, -K,
weka.classifiers.functi
ons.supportVector.Pu
k-S
0.3024853148573099 -
(e}
0.6878560663513378]
[-P, 100, -1, 54, -S, 1, -
w,
weka.classifiers.trees.
J48, --, -O, -B, -A, -M,
30, -C,
0.9365510044019448]
[-P, 100, -1, 17, -Q, -S,
1, -W,
weka.classifiers.trees.
RandomForest, --, -1,
21, -K, 3, -depth, 8]
[-P, 100, -1, 64, -S, 1, -
w,
weka.classifiers.trees.
LMT, --, -B, -R, -P, -M,
1,-W, 0]

[-P, 100, -1, 109, -Q, -S,
1, -W,
weka.classifiers.trees.
LMT, --, -B, -M, 1, -W,
0.34497374145084814]
[-I,49,-S,1,-W,
weka.classifiers.trees.
RandomForest, --, -1,
253, -K, 0, -depth, 0]
[-K, 90, -A,
weka.core.neighbours

null

null

null

null

weka.attributeSel
ection.GreedySte
pwise

null

null

null

null

weka.attributeSel
ection.BestFirst

null

null

[_B/ 'R]

[-D, 0, -N,
5]

null

null

null

null

weka.attributeS
election.CfsSub
setEval

null

null

null

null

weka.attributeS
election.CfsSub
setEval

null

null

{

a

[-L]

a

a




norm_7noSC_sum_tra_sz
2_it2.outTestStats

norm_7noSC_sum_tra_sz
2_it3.outTestStats

norm_7noSC_sum_tra_sz
3_itl.outTestStats

norm_7noSC_sum_tra_sz
3_it2.outTestStats

norm_7noSC_sum_tra_sz
3_it3.outTestStats

norm_7yesSC_con_tra_sz
1_itl.outTestStats

norm_7yesSC_con_tra_sz
1_it1_over200.outTestStat
s

norm_7yesSC_con_tra_sz
1_it1_over300.outTestStat
s

norm_7yesSC_con_tra_sz
1_it2.outTestStats

norm_7yesSC_con_tra_sz
1_it2_over200.outTestStat
s

weka.classifiers.me
ta.AdaBoostM1

weka.classifiers.me
ta.AdaBoostM1

weka.classifiers.laz
y.LWL

weka.classifiers.me
ta.Bagging

weka.classifiers.me
ta.AdaBoostM1

weka.classifiers.laz
y.LWL

weka.classifiers.laz
y.LWL

weka.classifiers.laz
y.LWL

weka.classifiers.me
ta.RandomCommit
tee

weka.classifiers.laz
y.LWL

earch.LinearNNSearc
h, -W,
weka.classifiers.functi
ons.SimpleLogistic, --
=S, -W,
0.14991094330775467]
[-P, 100, -1, 64, -S, 1, -
w,
weka.classifiers.trees.
LMT, --, -B, -R, -P, -M,
1,-W, 0]

[-P, 100, -1, 103, -Q, -S,
1, -W,
weka.classifiers.trees.
RandomTree, --, -M,
13, -K, 12, -depth, 0, -
N, 4]

[-K, 60, -A,
weka.core.neighbours
earch.LinearNNSearc
h, -W,
weka.classifiers.bayes
.NaiveBayes, --]
[-P,79,-1,79,-S,1, -
w,
weka.classifiers.trees.
LMT, --, -B, -R, -M,

23, -W, 0, -A]
[-P, 100, -1, 74, -Q, -S,
1,-W,

weka.classifiers.trees.
RandomForest, --, -1,
25, -K, 26, -depth, 12]
[-K, 90, -A,
weka.core.neighbours
earch.LinearNNSearc
h, -W,
weka.classifiers.bayes
.BayesNet, --, -D, -Q,
weka.classifiers.bayes
.net.search.local.K2]
[-A,
weka.core.neighbours
earch.LinearNNSearc
h, -W,
weka.classifiers.lazy.I
Bk, -, K, 3, -X, -I]

[-K, 30, -A,
weka.core.neighbours
earch.LinearNNSearc
h, -W,
weka.classifiers.functi
ons.MultilayerPercep
tron, --, -L,
0.39657670633870534,
-M,
0.4187285609661533, -
H, a, -S, 1]
[-L,38,-S,1,-W,
weka.classifiers.trees.
RandomTree, --, -M,
5,-K, 0, -depth, 0, -N,
0, -U]

[-K, 90, -A,
weka.core.neighbours
earch.LinearNNSearc

null M

weka.attributeSel [-B, -R]
ection.GreedySte

pwise

null M

null [
weka.attributeSel  [-B, -R]
ection.GreedySte

pwise

weka.attributeSel  [-R]
ection.GreedySte

pwise

null 1
weka.attributeSel  [-C, -B, -R]
ection.GreedySte

pwise

null [

null M

null 1

weka.attributeS []
election.CfsSub
setEval

null 1

null 1

weka.attributeS
election.CfsSub
setEval

[-M]

weka.attributeS []
election.CfsSub
setEval

null 1

weka.attributeS  [-L]
election.CfsSub
setEval

null 1
null 1




norm_7yesSC_con_tra_sz
1_it2_over300.outTestStat
3
norm_7yesSC_con_tra_sz
1_it3.outTestStats

norm_7yesSC_con_tra_sz
1_it3_over200.outTestStat
3

norm_7yesSC_con_tra_sz
1_it3_over300.outTestStat
s
norm_7yesSC_con_tra_sz
2_itl.outTestStats

norm_7yesSC_con_tra_sz
2_it2.outTestStats

norm_7yesSC_con_tra_sz
2_it3.outTestStats

weka.classifiers.ba
yes.BayesNet

weka.classifiers.laz
y.KStar

weka.classifiers.me
ta.Vote

weka.classifiers.laz
y.IBk

weka.classifiers.laz
y.LWL

weka.classifiers.laz
y.LWL

weka.classifiers.me
ta.Vote

h, -W,
weka.classifiers.bayes
.BayesNet, --, -D, -Q,
weka.classifiers.bayes
.net.search.local. K2]
[-D,-Q
weka.classifiers.bayes
.net.search.local.K2]
[-B, 76, -M, d]

[-R, MAX, -S, 1, -B,
weka.classifiers.lazy.
KStar -B 49 -M m, -B,
weka.classifiers.trees.
LMT-B-R-C-M1-
w
0.2316048408449548, -
B,
weka.classifiers.rules.
JRip -N
4.97832459259406 -E -
0O1,-B,
weka.classifiers.rules.
DecisionTable -E
rmse -1 -S
weka.attributeSelecti
on.BestFirst -X 3]

[-E, -K, 1,-X, -]

[-A,
weka.core.neighbours
earch.LinearNNSearc
h, -W,
weka.classifiers.bayes
.BayesNet, --, -D, -Q,
weka.classifiers.bayes
.net.search.local . HillC
limber]

[-U, 3, -A,
weka.core.neighbours
earch.LinearNNSearc
h, -W,
weka.classifiers.rules.
DecisionTable, --, -E,
acg, -S,
weka.attributeSelecti
on.BestFirst, -X, 1]
[-R, PROD, -§, 1, -B,
weka.classifiers.lazy.
KStar -B 43 -M m, -B,
weka.classifiers.functi
ons.SimpleLogistic -5
-W
0.9238405636892598, -
B,
weka.classifiers.rules.
DecisionTable -E
rmse -S
weka.attributeSelecti
on.BestFirst -X 4, -B,
weka.classifiers.rules.
DecisionTable -E acc -
1-S
weka.attributeSelecti

null

weka.attributeSel
ection.GreedySte
pwise
weka.attributeSel
ection.GreedySte
pwise

null

null

weka.attributeSel
ection.GreedySte
pwise

null

[-C, -B, -R]

[-B, -R]

[-B, -R]

null

weka.attributeS
election.CfsSub
setEval
weka.attributeS
election.CfsSub
setEval

null

null

weka.attributeS
election.CfsSub
setEval

null

[-M]

[-M,-L]

[-L]

a




norm_7yesSC_con_tra_sz
3_itl.outTestStats

norm_7yesSC_con_tra_sz
3_it2.outTestStats

norm_7yesSC_con_tra_sz
3_it3.outTestStats

norm_7yesSC_sum_tra_s
z1_itl.outTestStats
norm_7yesSC_sum_tra_s
z1_itl_over200.outTestSt
ats

norm_7yesSC_sum_tra_s
z1_itl_over300.outTestSt
ats

norm_7yesSC_sum_tra_s
z1_it2.outTestStats

norm_7yesSC_sum_tra_s
z1_it2_over200.outTestSt
ats

norm_7yesSC_sum_tra_s
z1_it2_over300.outTestSt
ats
norm_7yesSC_sum_tra_s
z1_it3.outTestStats

norm_7yesSC_sum_tra_s
z1_it3_over200.outTestSt
ats

weka.classifiers.me
ta.Vote

weka.classifiers.me
ta.RandomCommit
tee

weka.classifiers.me
ta.RandomCommit
tee

weka.classifiers.tre
es.RandomForest
weka.classifiers.laz
y.LWL

weka.classifiers.me
ta.RandomCommit
tee

weka.classifiers.me
ta.RandomCommit
tee

weka.classifiers.me
ta.AdaBoostM1

weka.classifiers.tre
es.RandomForest

weka.classifiers.me
ta.RandomSubSpa
ce

weka.classifiers.laz
y.LWL

on.BestFirst -X 1]

[-R, PROD, S, 1, -B,
weka.classifiers.lazy.
KStar -B 43 -M m, -B,
weka.classifiers.functi
ons.SimpleLogistic -S
-W
0.9238405636892598, -
B,
weka.classifiers.rules.
DecisionTable -E
rmse -S
weka.attributeSelecti
on.BestFirst -X 4, -B,
weka.classifiers.rules.
DecisionTable -E acc -
1-S
weka.attributeSelecti
on.BestFirst -X 1]

[-I, 33,-S,1,-W,
weka.classifiers.trees.
RandomPForest, --, -1,
25, -K, 0, -depth, 0]
[-,19,-S,1,-W,
weka.classifiers.trees.
RandomPForest, --, -1,
93, -K, 10, -depth, 0]
[-1, 62, -K, 16, -depth,
15]

[-U, 2, -A,
weka.core.neighbours
earch.LinearNNSearc
h, -W,
weka.classifiers.trees.
RandomForest, --, -1,
247, -K, 0, -depth, 0]
[-L,10,-S, 1, -W,
weka.classifiers.trees.
RandomTree, --, -M,
3,-K, 0, -depth, 12, -
N, 0, -U]
[-,3,-S1,-W,
weka.classifiers.trees.
RandomPForest, --, -1,
71, -K, 1, -depth, 0]
[-P, 100, -1, 24, -Q, -S,
1, -W,
weka.classifiers.trees.
J48, --, -], -A, S, -M, 1,
-C,
0.9561584733463078]
[-1, 45, -K, 0, -depth,
0]

[-1, 34, -P,
0.6409896496155877, -
S, 1,-W,
weka.classifiers.rules.
PART, --, -M, 3, -B]
[-A,
weka.core.neighbours
earch.LinearNNSearc
h, -W,
weka.classifiers.trees.
RandomForest, --, -1,
108, -K, 0, -depth, 12]

null

null

null

null

null

null

null

null

weka.attributeSel
ection.GreedySte
pwise

null

null

[-B, -R]

null

null

null

null

null

null

null

null

weka.attributeS
election.CfsSub
setEval

null

null

a

1




norm_7yesSC_sum_tra_s
z1_it3_over300.outTestSt
ats

norm_7yesSC_sum_tra_s
z2_itl.outTestStats

norm_7yesSC_sum_tra_s
z2_it2.outTestStats

norm_7yesSC_sum_tra_s
z2_it3.outTestStats

norm_7yesSC_sum_tra_s
z3_itl.outTestStats
norm_7yesSC_sum_tra_s
z3_it2.outTestStats

norm_7yesSC_sum_tra_s
z3_it3.outTestStats

norm_8noSC_con_tra_sz
1_itl.outTestStats
norm_8noSC_con_tra_sz
1_it1_over200.outTestStat
s

norm_8noSC_con_tra_sz
1_it1_over300.outTestStat
s

norm_8noSC_con_tra_sz
1_it2.outTestStats

norm_8noSC_con_tra_sz
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stand_8yesSC_con_tra_sz
2_itl.outTestStats

stand_8yesSC_con_tra_sz
2_it2.outTestStats

stand_8yesSC_con_tra_sz
2_it3.outTestStats

stand_8yesSC_con_tra_sz
3_itl.outTestStats

stand_8yesSC_con_tra_sz
3_it2.outTestStats

stand_8yesSC_con_tra_sz
3_it3.outTestStats

stand_8yesSC_sum_tra_s
z1_itl.outTestStats

y.IBk

weka.classifiers.me
ta.Vote

weka.classifiers.me
ta.Vote

weka.classifiers.me
ta.Vote

weka.classifiers.me
ta.RandomCommit
tee

weka.classifiers.me

ta.AdaBoostM1

weka.classifiers.laz
y.LWL

weka.classifiers.me
ta.AdaBoostM1

[-R, MIN, -S, 1, -B,
weka.classifiers.lazy.
KStar -B 81 -M n]

[-R, PROD, -§, 1, -B,
weka.classifiers.lazy.
KStar -B 43 -M m, -B,
weka.classifiers.functi
ons.SimpleLogistic -S
-W
0.9238405636892598, -
B,
weka.classifiers.rules.
DecisionTable -E
rmse -S
weka.attributeSelecti
on.BestFirst -X 4, -B,
weka.classifiers.rules.
DecisionTable -E acc -
1-S
weka.attributeSelecti
on.BestFirst -X 1]

[-R, PROD, -§, 1, -B,
weka.classifiers.lazy.
KStar -B 43 -M m, -B,
weka.classifiers.functi
ons.SimpleLogistic -S
-W
0.9238405636892598, -
B,
weka.classifiers.rules.
DecisionTable -E
rmse -S
weka.attributeSelecti
on.BestFirst -X 4, -B,
weka.classifiers.rules.
DecisionTable -E acc -
I-S
weka.attributeSelecti
on.BestFirst -X 1]
[-L,39,-S,1,-W,
weka.classifiers.trees.
RandomTree, --, -M,
2,-K, 4, -depth, 0, -N,
0, -U]

[-P, 100, -1, 64, -Q, -S,
1, -W,
weka.classifiers.trees.
REPTree, --, -M, 2, -V,
1.4515133949647173E-
5,-L, -1, -P]

[-U, 3, -A,
weka.core.neighbours
earch.LinearNNSearc
h, -W,
weka.classifiers.rules.
DecisionTable, --, -E,
acg, -S,
weka.attributeSelecti
on.BestFirst, -X, 1]
[-P,92,-1,113,-5, 1, -
w,
weka.classifiers.trees.
REPTree, --, -M, 2, -V,
0.002032170211824805

weka.attributeSel
ection.GreedySte
pwise

null

null

weka.attributeSel
ection.GreedySte
pwise

weka.attributeSel
ection.GreedySte
pwise

weka.attributeSel
ection.GreedySte
pwise

weka.attributeSel
ection.GreedySte
pwise

[-R]

[-C R]

[-B, -R]

[-B, -R]

[-C -R]

weka.attributeS
election.CfsSub
setEval

null

null

weka.attributeS
election.CfsSub
setEval

weka.attributeS
election.CfsSub
setEval

weka.attributeS
election.CfsSub
setEval

weka.attributeS
election.CfsSub
setEval

[-M]

[-M]

a

[-L]

a




stand_8yesSC_sum_tra_s
z1_it1_over200.outTestSt
ats

stand_8yesSC_sum_tra_s
z1_it1_over300.outTestSt
ats

stand_8yesSC_sum_tra_s
z1_it2.outTestStats

stand_8yesSC_sum_tra_s
z1_it2_over200.outTestSt
ats

stand_8yesSC_sum_tra_s
z1_it2_over300.outTestSt
ats

stand_8yesSC_sum_tra_s
z1_it3.outTestStats

stand_8yesSC_sum_tra_s
z1_it3_over200.outTestSt
ats

stand_8yesSC_sum_tra_s
z1_it3_over300.outTestSt
ats

stand_8yesSC_sum_tra_s
z2_itl.outTestStats

stand_8yesSC_sum_tra_s
z2_it2.outTestStats

stand_8yesSC_sum_tra_s
z2_it3.outTestStats

stand_8yesSC_sum_tra_s
z3_itl.outTestStats

weka.classifiers.me
ta.AdaBoostM1

weka.classifiers.me
ta.AdaBoostM1

weka.classifiers.fu

nctions.SMO

weka.classifiers.me

ta.AdaBoostM1

weka.classifiers.me
ta.AdaBoostM1

weka.classifiers.laz
y.LWL

weka.classifiers.me
ta.AdaBoostM1

weka.classifiers.me
ta.AdaBoostM1

weka.classifiers.me
ta.AdaBoostM1

weka.classifiers.me
ta.AdaBoostM1

weka.classifiers.me
ta.AdaBoostM1

weka.classifiers.me
ta.AdaBoostM1

8, -L, -1]

[-P, 100, -1, 64, -S, 1, -
w,
weka.classifiers.trees.
LMT, --, -B, -R, -P, -M,
1, -W, 0]

[-P, 100, -1, 114, -S, 1, -
w,
weka.classifiers.trees.
LMT, --, -R, -P, -M,
28,-W, 0, -A]

[-C
1.4706914365886425, -
N, 1, -K,
weka.classifiers.functi
ons.supportVector.Pu
k-S
1.839051789593409 -O
0.8462457871776845]
[-P, 67, -1, 126, -Q, -S,
1, -W,
weka.classifiers.trees.
RandomForest, --, -1,
187, -K, 0, -depth, 0]
[-P, 100, -1, 76, -Q, -S,
1, -W,
weka.classifiers.rules.
JRip, --, -N,
2.851960831017474, -
E, -P,-O, 4]

[-K, 60, -A,
weka.core.neighbours
earch.LinearNNSearc
h, -W,
weka.classifiers.functi
ons.Logistic, -, -R,
0.3667156826637985]
[-P, 100, -1, 69, -Q, -S,
1, -W,
weka.classifiers.trees.
RandomTree, --, -M,
1, -K, 18, -depth, 0, -
N, 4, -U]

[-P, 100, -1, 33,-S, 1, -
w,
weka.classifiers.trees.
RandomForest, --, -1,
13, -K, 0, -depth, 7]
[-P, 59, -1, 10, -Q, -S, 1,
W,
weka.classifiers.trees.
RandomForest, --, -1,
118, -K, 1, -depth, 15]
[-P, 100, -1, 31, -Q, -S,
1, -W,
weka.classifiers.trees.
RandomForest, --, -1,
28, -K, 2, -depth, 0]
[-P, 100, -1, 105, -Q, -S,
1, -W,
weka.classifiers.trees.
REPTree, -, -M, 1, -V,
4.780372348752996E-
5,-L,-1, -P]

[-P, 100, -1, 23, -Q, -S,
1, -W,

null

null

null

null

null

null

null

null

weka.attributeSel
ection.GreedySte
pwise

null

null

null

[-C -R]

null

null

null

null

null

null

null

null

weka.attributeS
election.CfsSub
setEval

null

null

null

a

a

a




weka.classifiers.trees.
RandomForest, --, -1,
191, -K, 0, -depth, 12]

stand_8yesSC_sum_tra_s weka.classifiers.me [-I, 36, -P, null M null 1
z3_it2.outTestStats ta.RandomSubSpa  0.2757331204049802, -
ce 5 1,-W,

weka.classifiers.lazy.I

Bk, --, -E, -K, 10, -X]
stand_8yesSC_sum_tra_s weka.classifiers.me [-P, 100, -1, 95,-Q,-S5, null 1 null 1
z3_it3.outTestStats ta.AdaBoostM1 1, -W,

weka.classifiers.trees.

RandomTree, --, -M,

8, -K, 12, -depth, 0, -

N, 4, -U]

The RCC column describes the conditions used to build the corresponding RCCs. Below is a
summary scheme of the names in the RCC column:.

{norm/stand/raw}_{7/8}{no/yes}SC_{con/sum}_sz{1/2/3}_it{1/2/3}(_over{200/300}).

The fields are separated by an underscore. The first field {stand/norm/raw} specifies if the RCC were
standardize, normalized or taken without further modification; The digits of the second field {7/8}
indicates the distance in Angstroms used to build the contact map; {no/yes}SC inform if side-chain
atoms were used or not in the construction of the contact map. The third field {con/sum} describe if
concatenation or addition of each RCC for a protein-protein pair was implemented. From the fourth
to the sixth field is the information of the undersampling procedure used, the sz{1/2/3} refers to the
proportion of the undersampling of the majority class (positive) with reference to the length of the
minority class (negative), as follows: sz1 = undersampling 1:1, sz2 = undersampling 2:1 and sz3 =
undersampling 3:1 of positives (P) vs negatives (N) respectively; the fifth field it{1/2/3} refers to the
random iteration seed used for the undersampling. Last, the sixth field (_over{200/300}) may or not
be present, it is the indicative of the oversampling sets, which all part from an undersampling 1:1
set. In this way, the negative class was synthetically oversampled to generate the same quantity of
negative instances 1:2 (P:N) (over200), or twice the quantity of negative instances 1:3 (P:N)
(over300).



